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Question Number : 1 Question Id : 4050367543 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let A={1, 2, 3}. Define a relation R on A

as:
aRb < |a®2—-b3 =5,
Then which of the following is not true ?
Options :
R~ 1=R, where R ! is the inverse

40503627556, L R

40503627557, Range of Ris A.
40503627558. R is reflexive and symmetric.

40503627559. R is symmetric and transitive.

Question Number : 1 Question Id : 4050367543 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A A={1,2,3} T AW T T=H R A
BRI Ui #
aRb o |a2—b3<5
LAk e e F
Options :
R-1=R, W=l R~1, R &1 ufaain

40503627556, \Inverse) 1

40503627557, R 1 AT AT

40503627558, R TG 71 HAHG 2 |

10503627550, R THIH T TEHTE € |

Question Number : 1 Question Id : 4050367543 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Rl A={1,2,3} 5. Auz ey R¥

aRb & |a2—b3<5.

ool cqrulfdd sl dl ARl sl 2 we

4l
Options :

1_ : N -

40503627556, R R, sl R™ " AR 1 2 ©.

40503627557, Rell [z A 8.



40503627558, R 2L eElRs 2 WA .

40503627559, R U[Hd 2 wEuld 5.

Question Number : 2 Question Id : 4050367544 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The locus of the point

z=x+1y (x, yeR, i=y 1) satisfying

- \l i
ar | L
Options :
a circle with radius =23
40503627560.
40503627561 a circle with centre at fﬁ, []:|

a circle with centre at [.Uf 2+/3 ] and

40503627562, radius3

an ellipse with length of its minor axis

40503627563, = 2

Question Number : 2 Question Id : 4050367544 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



fag z=x+iy (x,yeR,i=V-1), i

(z—3 e o w
arg, z|1]=?ﬁﬂgﬁm%iﬂﬁﬁ

g
Options :

10503627560, O 30 Tl T 243 zl

wF 99 foma &= (V3, 0) 7
40503627561

ue g for %= (0, 243 ) ae B

40503627562, 3 &

U ST T o S F] g 32|
40503627563 b

Question Number : 2 Question Id : 4050367544 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
: 3\
ar

& \ Z 3 /l|

[~

; o MU 532 €l el [G4g
z=x+iy (x,yeR,i =-1) Al [Clgum =i
Options :

23 Bisadl <1t =15 aqa 8.
40503627560. 23 3 g

3, 0) Yegews] »is ada 8,
40503627561 { ) e g



(0, 23 ) Y] 14 3 Bl =\
40503627562, "IN ©-
srel 2ol dond =3 €ld ddl 215
40503627563, U4 B,

Question Number : 3 Question Id : 4050367545 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If both the roots of the equation,
x?—2ax +a%—1=0(ae R) lie in the interval
(— 2 2), then the equation,

x2—(a2+1)x— (a2 +2)=0 has
Options :

40503627564, both roots in (— 3, 0)

one root in (0, 2) and another root in

7
40503627565.{ 2,0)

one root in [2, 3) and another root in
(—2,0)
40503627566.

one rootin( — 3, — 2) and another root

in (0, 2]
40503627567.



Question Number : 3 Question Id : 4050367545 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Ffg A, ¥2-2ax+a2—-1=0(ae R) F
SFl gel, e (-2, 2) ° €, & wE,
x2—(a?+1)x—(a2+2)=0:

Options :

40503627564, F ol 4 (—3,0) H E)

=1 TF 9 (0, 2) | 941 T 54 (~2,0)
40503627565, 1 &1

FTF I [2,3) H N A TA (— 2, 0)
H 2

40503627566.

F UF g (-3, —2) H a9 TH HA

ik
40503627567. {U, _] o %l

Question Number : 3 Question Id : 4050367545 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

od 15381 22— 2ax + a2~ 1=0, (a € R) -l i
ofley 2idud (-2, 2) 4l ¢ld, di wHlsze
x2—(a2+1)x— (a2 +2)=0:

Options :

40503627564, T el ellsy (=3, 0) i ©.



40503627565.

40503627566.

4 25 olley (-3, —2) Wl 2t oly odley

40503627567, (021 L ©.

Question Number : 4 Question Id : 4050367546 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the system of equations
2x+y+pz=-1
Jx—-2y+z=q
5x —8y+9z=>5
has more than one solution, then q—p is
equal to :
Options :

40503627568.

]

40503627569.
40503627570. 4

40503627571, —4



Question Number : 4 Question Id : 4050367546 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Fy+pz=—1
Ix—2y+z=q

I

Options :
40503627568, 2

40503627569, ~ 2

40503627570. 4

40503627571. *

Question Number : 4 Question Id : 4050367546 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
od Hls2el Held
2xx+y+pz=-1
Ix—2y+z=q
5x —8y+9z=>5
A2l sy Gl g, dlg—p=_

Options :



-2

40503627568.

I~

40503627569.
40503627570. 4

40503627571, —4

Question Number : 5 Question Id : 4050367547 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
All the words (with or without meaning)
formed using all the five letters of the word
GOING are arranged as in dictionary. Then
the word OGGIN occurs at the place which
15 :

Options :

Aarvth

40503627572. {48]

Ao th
40503627573. {_1 9]

th
40503627574. (30)

th
40503627575. {5 1]

Question Number : 5 Question Id : 4050367547 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

w8 GOING & 91 5 27&7% =61 WAF &d gU
AT T Fi V=2 (91 9 S 2 A 99 el
), T F ATIR At fH T E @
%5 OGGIN 7= # & fohq = W amem ?
Options :

40503627572, (48) =

40503627573, (49) 41

40503627574, P01

(1) =
40503627575.

Question Number : 5 Question Id : 4050367547 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

GOING 212EAL Wit 24821l Buiel 5304 el
MM 2B (42lHmr 5 220R(dd) 2eesial dHe)
Edl, OGGIN 210€ 541 32 29 ]

Options :
Aol
40503627572, B
HL
40503627573, 49

H|
40503627574, U



H|
40503627575, 21

Question Number : 6 Question Id : 4050367548 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The sum

2.2 W 08,0
f}r 92 g'ﬁ 94 95
infinity, is equal to :

Options :

el
40503627576, O

v,

Y
40503627577 “*

11

40503627578, 24

2
8
40503627579.

Question Number : 6 Question Id : 4050367548 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



2,2 10 18 _ 26
Sttt e 8
T
Options
3
40503627576 O
17
24
40503627577.
1
40503627578, 24
5
8
40503627579.

Question Number : 6 Question Id : 4050367548 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Mzl
E|iﬁll—pll—ﬁlﬁl ...... A
3 g2 9.3 94 95

welydl=

Options :

el
40503627576 O



7

Y
40503627577 “*

11

40503627578, 24

2
8
40503627579.

Question Number : 7 Question Id : 4050367549 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let r and s be respectively the remainders
when (12)% and (23)!'? are divided by 5,
thenr+s isequal to:

Options :
40503627580. 2

40503627581.

40503627582.

I3

40503627583.

Question Number : 7 Question Id : 4050367549 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

54 (12)2 a1 (23) 2 &1 5 9 farfaa foan s
T o FHM: YURS r a9 s €, o r+ s SR
R

Options :
40503627580.

40503627581.

40503627582.

2

40503627583.

Question Number : 7 Question Id : 4050367549 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A
o
=

sd 1 2l s 2 2isH (12)2 24 (23)12 4
Pl Hadl 2 €, ol r4s=

Options :
40503627580.

e

40503627581.
40503627582.

J?
40503627583. ~



Question Number : 8 Question Id : 4050367550 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let fbe a differentiable function satisfying
f(x+ty)=flx)+fly)—xy forall x, ye R. If
| f(h) 10

lim -=3,then } f(n) isequalto:

h—0 h g
Options :
55
40503627584, 2
275
40503627585, 2
55
40503627586, %
225
40503627587, %

Question Number : 8 Question Id : 4050367550 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



HHI f Ueh SAashe1d Fed § Sl 9ea x, y € R
& T, fx +y)=f(x) + fly) — xy T HF= FA@

71 afg #ﬂ}} %i*%ﬁﬁ g'}f(“] TR

n=1
T:
Options :
55
40503627584 2
275
40503627585, 2
55
40503627586, 3
225
40503627587, 4

Question Number : 8 Question Id : 4050367550 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



QRS f 2l Ucds x, e R
flx+y)=f(x)+f(y) —xy - WA s2d 215
L f(h)

[Gsardly [EEd 5. sd lim 2 =3 €, dl
h—0 h
10
2 ]
n=1
Options :
55
40503627584, 2
275
40503627585, 2
55
40503627586, 3
225
40503627587, 4

Question Number : 9 Question Id : 4050367551 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For non-zero real numbers a, b, if
3/
coiat byt
¥(x) = ——=—,x>0and y’(5)=0, then
x4
theratioa: bis:
Options :



40503627588, V2 ©3

40503627589, 315

V5:43

40503627590.

40503627591, 31

Question Number : 9 Question Id : 4050367551 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
YW Arias FEHA a 991 b F fo 4fs

< N by :
Wx) = —=—,x>0an ¥’ (5)=0%,
o5
9 a : b T T :

Options :

40503627588, V2 3

40503627589, 3: V3

xl'llg:x.ﬁ

40503627590.

40503627591, 311

Question Number : 9 Question Id : 4050367551 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question



Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

3
5 s aeE e "
ol ¥(X)=—=—,a beR, x>0
x4

y'(5)=0 €4, dl el a:b=__
Options :

' = .
40503627588, V2 ©3

40503627589, 3: V5

V5:43

40503627590.

40503627591, 31

Question Number : 10 Question Id : 4050367552 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The function f(x)=sin2x+ 2cosx,

/ 3 17} }
i a4 f 4 | Das:
¢ 4" 1)
Options :
40503627592, 1O critical point.
a point of local maxima and a point

40503627593 of local minima.



a point of local maxima and a point

40503627594, ©f inflection.

a point of local minima and a point

40503627595. of inflection.

Question Number : 10 Question Id : 4050367552 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

(" 3w 37)
T f(x) =sin2x + 2cosx, Xe i
’ e G
<hl :
Options :

40503627592, IS FHIa a5 TEl €|

w T e sfew & 90w fag
40503627503, T TS 71

s fag g sfEms & a9 us
40503627504, N TG @1
% fag g s & 9 =

At Zl
40503627595. 3

Question Number : 10 Question Id : 4050367552 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



EED flx)=sin2x + 2cosx, Xe

\ 4 4 ’
" :

Options :
40503627502, s (g il

uis 2l HerH [0 A wis 2l
40503627503, kit (% ©.

25 Al wedd (G 2 25 AldlGg
40503627594, ©-

215 22l et (615 2 215 AlAleg
40503627595, 2

Question Number : 11 Question Id : 4050367553 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

{:055 i)

_ do ;
The integral jsinl]H 3 sin?20) =

r_-qual lo :

(where C is a constant of integration)

Options :

cos’ 0 | L C

—lo
5i11511 I c05511|

5

40503627596.



1 sin®f) o

'j_ I.OBE ( 7= 3 W F

£ sin B <+ cos™ B
40503627597. b 4

1 5i1‘|5U "

20 08 I in~0 5n| s
40503627598, ~ i o

1 5% 2

—.Inge{_ﬁmq E}WIL

6 [ sin”0 + cos”0 )
40503627599. :

Question Number : 11 Question Id : 4050367553 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

cosS i

j sinf(4

3 sin” 20)

(el C Ush e ST=R 2 1)

Options :

—lo
5
40503627596.

40503627597.

— lo
20

40503627598.

loge [

cosE' B

sinE' B c05513|

sinf’ {

sin®0 + cos®h

"".

= |5f_nE'l! | c055l1|

sin> 0

d0 TR %

+C

la
A

FC



O

1 ( cos? 0 1
—lo

X sin®0 + cos®p )
40503627599. :

Question Number : 11 Question Id : 4050367553 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

c055l]

. .L-I" dl-] =
SE j sinf(4 — 3sin”20) T

(sl C 21 sae-l 20is 8.)
Options :

1 cos’ 0 ",
—lo 5 Z | F O
5 sin~ B + cos l]|
40503627596,
1 sin®0 .“ =
24 in®0 + cos®0
40503627597. Lo cos™0
1 | sin” 0 | .
'j_['] IDBE | . 5 ] 5”| O
40503627598. sin”b + cos

.1 ( cos® 6

— loge g = 1 +C
6 | sin” 0 + cos”®
40503627599. :

£

Question Number : 12 Question Id : 4050367554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The area (in sq. units) of the region bounded
by the parabolax =2y*and the linex + y=1
1S :

Options :

40503627600. =

40503627601.

w|e

40503627602.

W= |

40503627603.

Question Number : 12 Question Id : 4050367554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TEed, x =2y2 991 W@, x +y=1 5 =g
£ 1 SAFe (97 s H) ¥
Options :
hil
40503627600, 12



93

24
40503627601.

we

40503627602.

5
40503627603, 4

Question Number : 12 Question Id : 4050367554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
YRHEd x =217 LA Ly + =194 2t Ueald

#ise (2l 2iswul) 8.

Options :

40503627600. =

40503627601.

w|o

40503627602.

W= |

40503627603.



Question Number : 13 Question Id : 4050367555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let y=y(x) be the solution of the differential

di
equation xlog, x aj F2y=2x (x >1), If

lim y(x) =1, then y(e?) is equal to :
r—=l+

Options :

[

-2

40503627604.

[ ]

-2

40503627605.

R

40503627606.

40503627607, € + 1

Question Number : 13 Question Id : 4050367555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

" y=y(x), HATFH HHﬁIcHUT,

xlog, x i{—y F2y =2x (x > 1) e | Afg

lim y(x) =1 % ﬁTy{cvz] T E

x—1+

Options :



[

-2

40503627604.

[ ]

-2

40503627605.

R

40503627606.

%

40503627607.

Question Number : 13 Question Id : 4050367555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

-

aiRls y=y@) 2 [Asa  u¥lse

d 5 g <
xlog. x ay F2y =2x (x > 1) AL G5d &, o

7

lim y(x) =1 G, rﬁy{c-—]=

r—l1+
Options :
02 1
40503627604, 2
02 +1

40503627605. 2

R

40503627606.



40503627607, € + 1

Question Number : 14 Question Id : 4050367556 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If {,1}., L.rr.), i=1, 2, 3 are the vertices of an

equﬂateral trianglu:- such that

]

(51 + 324y~ 97= (1, + 37+ (y, ~ 4 =
(x3+3)2+ (y; —4)2, then the value of

Vi tyy ti;

15 :
.1'1 | IE | _1'3
Options :
il
40503627608,
4
40503627609.
3
40503627610. 4
3
40503627611, 4

Question Number : 14 Question Id : 4050367556 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Ffg Uk gHag YS9 4 (v, ), i =1,
2,3 ¥ faar fag

(61 + 3%+ (g~ 4= (1 43+ (4~ 4)* =

. - Y1 Fys i
%ijl ¥2 T3

X +xp +x3

(33 + (y— 4)?
AR
Options :

W

40503627608.

| W

40503627609.

| G

40503627610.

W |

40503627611.

Question Number : 14 Question Id : 4050367556 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



od (x, ), i=1,2, 3 2 25 qHoly EsleHl
sl RRIGEL & 5 svedl
(2, +3)2+ (y; —4)%=(x,+3)%+ (y, — 4)* =

I

_ 2 2 w'y1 Fy2 Y3
q._ L 2
(23 +3)2+ (g3 — 4)% 4, ol = Al

[y 8.
Options :
4
40503627608, 2
4
40503627609.

3
40503627610. 4

3
40503627611, 4

Question Number : 15 Question Id : 4050367557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1 1
If tangent at [—, —W to the circle
. 2’ )
x2 4 yzzl is also a tangent to the circle
(x—a)?+ (y b)*=1, then the ordered pair
(a, b) can be:



Options :

2, V2]
40503627612. '
(—v2, 2v2)
40503627613. /
2 2.7
40503627614.{"' "E:}
(-2, v2)

40503627615.

Question Number : 15 Question Id : 4050367557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

s oo geppent & g 1
amaﬂl—|y=_rmﬁ$g{J§,JE
@, (x —a)2+ (y— b)2=1 =l Hi w9 FAl
2, 1 HHT I (a, b) B HHa1 & ;

1'q11;nﬁ
A

".

Options :

(-2, 2)

40503627612.

(—+2, 242
40503627613 -

{22
40503627614.

'3

)



(=243

40503627615.

Question Number : 15 Question Id : 4050367557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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The foci of a hyperbola coincide with the

-

foci of the ellipse, L [ y =1. If the
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eccentricity of the hyperbola is 4, then its

equation is :
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If the plane P : 2x—y+ 3z + 5=0 is rotated
through 90° about its line of intersection
with the plane 5x —4y— 2z + 1=0, then the

equation of the planr_- P in the new position
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The top of two poles, standing 4 m apart
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Let A, B and C be three events such that

the prnbabﬂit}-' of occurrence of ex actl}-' one

1
of A and B is 57 the probability of

occurrence ol exactl}-' one of Band C is —

4

and the probability of occurrence of exactly

1
one of C and A is I If the prn:}lﬂai:!ili’q;r of

occurrence of all the three events

1
simultaneously is E , then the probability

that at least one of the three events will
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Let
p : L have passed JEE (Main),
q : My JEE (Main) rank is 100, and
r: I will appear in JEE (Advanced)
be three statements with truth values
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
IR AFTAl § | HF W AH & T 99 AHR X - X W HEd @ g9 giata g2

X
B
X
Options :
|
L
40503627661.
./:;.
40503627662, ——
S Y
40503627663, L———




40503627664.

Question Number : 31 Question Id : 4050367573 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

seled v [tz 58 wugla, wuie ue wugldd X - X AL uig, 22 e4e wale (mirror image) 67

X
L
X
Options :
2
U
40503627661
1:':-;'-- ]
}
40503627662, —
S Y
40503627663, L——



40503627664.

Question Number : 32 Question Id : 4050367574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X?

X
I8
X
Options :
gt
40503627665.
Eil
40503627666.
o

40503627667.



il

Question Number : 32 Question Id : 4050367574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
IR SAF(E H F A F SAHTT < T T B HX - X T T @ g giara g7

40503627668.

X
IEE]
X
Options :
dit
40503627665.
Ei
40503627666.
o

40503627667.



il

Question Number : 32 Question Id : 4050367574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

40503627668.

szt vl (il 59 2ugld, 2uie ue 2ugldd X - X -l g, e 2iel wqlie (mirror image) 67

iy

X

X
Options :
40503627665.
40503627666.

40503627667.



il

Question Number : 33 Question Id : 4050367575 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figurr_-s is the correct mirror image of the p roblem figurr_- with respect
toX-X?

40503627668.

X
7 i
X
Options :
\:\“,:.I"-.'r
e
LY _,-’-’-'r'i’
40503627669, =
o I:{'-.f
40503627670.
-: ™, L;:- /‘\-:l:f
L

40503627671.



40503627672.

Question Number : 33 Question Id : 4050367575 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
I AFaEl § T FF = AF < T G SAE F X - X T et T8 g giata 72

X

Options :

40503627669.

40503627670.

40503627671.



40503627672.

Question Number : 33 Question Id : 4050367575 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

sredled lglaziiial 58 2ugld, wuie de wuglad X - X Al 1z, 29 24e uldlet (mirror image) 67

X

|
T

.
%,
o

Bt

|

i
)
ry
ra

hﬁ\._

Options :

40503627669.

40503627670.

40503627671.



40503627672.

Question Number : 34 Question Id : 4050367576 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the prnhlem figuro with respect
toX-X?

X
X
Options :
@
40503627673.
40503627674. E

40503627675.



e

Question Number : 34 Question Id : 4050367576 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
I ATl § F A T SF < T A SH FX - X H F=id TE i wfafe 2

14

Options :

40503627676.

X

40503627673.

40503627674.

40503627675.




e

Question Number : 34 Question Id : 4050367576 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
seclled g [amimizl 59 wugld, 2uia ue wuglad X - X Al g, w9 el ulaleier (mirror image) 67

574

Options :

40503627676.

X

40503627673.

40503627674.

40503627675.




e

Question Number : 35 Question Id : 4050367577 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

40503627676.

Which one of the answer figurr_-s is the correct mirror image of the p roblem figure with respect
toX-X?

X
L Ll
IS
X
Options :
]
=
40503627677.
i
) LT
40503627678.

E:

40503627679.



24

Question Number : 35 Question Id : 4050367577 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
I SApTadl § H A | S & T we SEa # X - X ¥ gt w8t gdu wiafae €2

40503627680.

X
X
Options :
]
A
40503627677.
i
) L]
40503627678.

E:

40503627679.



24

Question Number : 35 Question Id : 4050367577 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

40503627680.

seeled 2t lazimisl 58 wugld, 2a U sugldd X - X AL urig, «9 2de uldlde (mirror image) &7

X

A=

Options :

I

40503627677.

‘L_L‘

40503627678.

E:

40503627679.



24

Question Number : 36 Question Id : 4050367578 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Find the odd figure out of the problem figures given below.

40503627680.

Options :

40503627681.

40503627682.

40503627683.

40503627684.




Question Number : 36 Question Id : 4050367578 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
1= <1 T 9 At J 9 faum SRt veEt |
Options :

40503627681.

40503627682.

40503627683.

40503627684.

Question Number : 36 Question Id : 4050367578 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Al 2 Ut 2aglazisizEl G 2usl (odd figure) UL

Options :

40503627681.

40503627682.

40503627683.

40503627684.

Question Number : 37 Question Id : 4050367579 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Find the odd figuro out of the problom figurc-s given below.

Options :



40503627685.

40503627686.

40503627687.

40503627688.

Question Number : 37 Question Id : 4050367579 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
== & T we Rfadl 6 9 faum sAeefa e |
Options :

40503627685.




40503627686.

40503627687.

40503627688.

Question Number : 37 Question Id : 4050367579 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A2 wue Ut wuglazimizEl (Fuu 2ugld (odd figure) 2LUEL
Options :

40503627685.




40503627686.

40503627687.

40503627688.

Question Number : 38 Question Id : 4050367580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Find the odd figure out of the problem figures given below.

Options :

40503627689.



40503627690.

40503627691.

40503627692.

Question Number : 38 Question Id : 4050367580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
1= <t T v swfaat 9 | faum st veenf
Options :

40503627689.



40503627690.

40503627691.

40503627692.

Question Number : 38 Question Id : 4050367580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A2 we Ut wuglazisizEl (Gu 2ugld (odd figure) UL
Options :

40503627689.



40503627690.

40503627691.

40503627692.

Question Number : 39 Question Id : 4050367581 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Find the odd figure out of the problem figures given below.

Options :

40503627693.



40503627694.

40503627695.

] A
1

]
]

40503627696.

Question Number : 39 Question Id : 4050367581 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
== & T 99 A § 9 faem st gEeni |
Options :

40503627693.




40503627694.

40503627695.

] A
1

]
]

40503627696.

Question Number : 39 Question Id : 4050367581 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
AAl2 v ueet wuglasimizl (G 2usld (odd figure) UL
Options :

40503627693.



40503627694.

40503627695.

] A
]
v

40503627696.

Question Number : 40 Question Id : 4050367582 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Find the odd figure out of the problem figures given below.

Options :

40503627697.




40503627698.
331_
40503627699. =
rdh R
()
40503627700. o

Question Number : 40 Question Id : 4050367582 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
= =t T w9 sefadl § W famm st vemt |
Options :

40503627697.




40503627698.
331_

40503627699. =
rdh R
()

40503627700. o

Question Number : 40 Question Id : 4050367582 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A2 2aue st wiglazisial Fu 2ugld (odd figure) 2UEL

Options :

40503627697.




L
40503627698.

R,

.
40503627699.

7T,

L )

40503627700, )

Question Number : 41 Question Id : 4050367583 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.



40503627701.

|
L
40503627702.
|
L
40503627703.
40503627704.

Question Number : 41 Question Id : 4050367583 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



3 - D 99 ATHTa H U 9% F U ¥4 I e T E | IR 6 feun ¥ Sd g, THE 9T ovd
I AFTaAl § 9 TEE |

Options :

40503627701.
|
L
40503627702.
|
L
40503627703.

40503627704.



Question Number : 41 Question Id : 4050367583 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 - D e 2Ugld 25 srdd £ it . dladl B sddl, @i W 4y 224 (front view) seelled
oLy [d=imi] 2l

Options :

40503627701.
|
L
40503627702.
|
L

40503627703.



T

40503627704.

Question Number : 42 Question Id : 4050367584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.

Options :

40503627705.

40503627706.

40503627707.



L

40503627708.

Question Number : 42 Question Id : 4050367584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 - D W¥ ST H U 9% F U 34 I femmn ¥ | 9 Fi faen ¥ S gu, sHE e 99 &
I ATFaE H T2 |

Options :

40503627705.

40503627706.



40503627707.

:
L

40503627708.

Question Number : 42 Question Id : 4050367584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 - DU 25l s oo £2 et 9. dl-Al (Bl sddl, 2 412 44 224 (front view) srdled
wilg (A=l izl 2L

Options :

40503627705.

40503627706.



40503627707.

:
L

40503627708.

Question Number : 43 Question Id : 4050367585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.

e

Options :

40503627709.



40503627710.
L]
40503627711.
L
40503627712.

Question Number : 43 Question Id : 4050367585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 - D9 A H Uk 95 F UF 9¥4 F T T €1 i F few § < gu, THE I 9y
W AFHIE H F TE=E |

Options :



40503627709.

L
40503627710.
L]
40503627711.
L
40503627712.

Question Number : 43 Question Id : 4050367585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



3 - D e 2igld s crdr 22 e 9. el Fruml sddl, wie e Uy 221 (front view) seailed
2415 A=z 2l

Options :

40503627709.

40503627710.

40503627711.

40503627712.



Question Number : 44 Question Id : 4050367586 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.

Options :

40503627713.

40503627714.

40503627715.

40503627716.



Question Number : 44 Question Id : 4050367586 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 - D YUY A H UF 95 F U 994 F1 f@mn T €1 i 1 few ¥ 2y gu, sHE I 99 #
IW AHIGE H F Te=rd |

Options :

40503627713.

40503627714.

40503627715.



40503627716.

Question Number : 44 Question Id : 4050367586 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 - DU 2gld s srqd et i . dleAl [B2uml sddl, 24 9= 4y 224 (front view) seailed
Ly [zl 2l

Options :

40503627713.

40503627714.



40503627715.

40503627716.

Question Number : 45 Question Id : 4050367587 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.

.-'-'.'H'-\.
. .

[T]

o -

_
.
e, o
o ..
o "'\-.‘. -

- -
s -

ol o, - e,
., s r o
- - > -

. o -~
o

i N i

Options :

40503627717.



40503627718.

40503627719.

40503627720.

Question Number : 45 Question Id : 4050367587 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 - D9 A H UF 9% F UF 579 F fommn mn g1 i # few F S g, s9E IeE o =
W AFIE H F TE=E |

-
-

Options :



40503627717.

40503627718.

40503627719.

40503627720.

Question Number : 45 Question Id : 4050367587 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



3 - D Mt 2gld s drqe £ A . dledl Brumi sddl, @i 4 4eyut 224 (front view) seeiled
witglaiHizl 2iEl

Options :

40503627717.

40503627718.

40503627719.

40503627720.



Question Number : 46 Question Id : 4050367588 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figure will complete the sequence of the three problem figures ?

L5
Sy

Options :

N
Y
=

- PP ‘?
R s A
: LY
3 7 ('-._ if' ':.\_.--")i.: N

N, A,
\ WY
WO R

\."'\. s -
S
LRl
\'..l"'

n=
40503627721.
40503627722.
40503627723.
e
40503627724.

Question Number : 46 Question Id : 4050367588 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



I SAFaAl § H FH H SAHT H T G SAFHE H e ST (sequence) T 2 S ?

Options :
N5
40503627721.
40503627722.
40503627723.
——
40503627724.

Question Number : 46 Question Id : 4050367588 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



seclled 2hg(=iuizl 59 2ugld 2aia 2ol wet 2uglhzi-l el yel sl

Options :
_—_l—l
L5
40503627721.
40503627722.
40503627723.
—
40503627724.

Question Number : 47 Question Id : 4050367589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the answer figure will complete the sequence of the three problem figures ?

?




Options :

40503627725.

40503627726.

40503627727.

40503627728.

Question Number : 47 Question Id : 4050367589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
I SATFaAl § H FH H SAH H T G SAFH T H e H ST (sequence) T 2 S ?

7

Options :

40503627725.



40503627726.

40503627727.

40503627728.

Question Number : 47 Question Id : 4050367589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
srelet whgldzimizl 58 wugld wuid el wet wuglisiddl el yel s2a)

?

Options :

40503627725.

40503627726.



40503627727.

40503627728.

Question Number : 48 Question Id : 4050367590 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the answer figure will complete the sequence of the three problem figures ?

L'%‘ ) :.-“l‘_{‘-‘ ; ?
Options :
o
40503627729.
25
40503627730.
@

40503627731.



al

Question Number : 48 Question Id : 4050367590 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
I SATFHaA § H FH W AH H T G AF G H oH H SFIHH (sequence) T S ?

40503627732.

El-g - ‘“3'-::3_-::“;-'; W

Options :

@
40503627729.

25
40503627730.

@
40503627731.

40503627732.



Question Number : 48 Question Id : 4050367590 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

secled lglaziHiEl 59 2ugld »uhd =290 wet wugldzi-l gell yel s2a)

30

Options :
@

40503627729.

25
40503627730.

@
40503627731.
40503627732.

Question Number : 49 Question Id : 4050367591 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the answer figure will complete the sequence of the three problem figures ?

?
Options :
40503627733. \Cl\g-?f
40503627734.
40503627735.
40503627736.

Question Number : 49 Question Id : 4050367591 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



IH SAFTE § F BA W SAF F A G AFGE F T H STH (sequence) T 2 SR 2

r 2

Options :
40503627733. ﬁg{"i
40503627734.
40503627735.
40503627736.

Question Number : 49 Question Id : 4050367591 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



seclet 2hglA=imil 59 2ugld 2uia 200 wet suglizi-l el yel s

Options :

40503627733. ﬁé—’é
40503627734.
40503627735.
40503627736.

Question Number : 50 Question Id : 4050367592 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the answer figure will complete the sequence of the three problem figures ?

_ — =
8 S Ress N ?
Options :

N

NN

. --.,\\.\
40503627737, Lo

.

NN

NN
40503627738, ——

-\\.\\\

NN

NN
40503627739.

\ 5

NN

NN
40503627740.

Question Number : 50 Question Id : 4050367592 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
I SAFHfaEl § W FA H SAFH B A T AFTE H T H STFA (sequence) T 2 SE Y

\%_‘ :
o \\ 7
: DN .

77

N\

Options :



40503627737.

40503627738.

7
-

7
7

40503627739.

A

o

40503627740.

Question Number : 50 Question Id : 4050367592 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

srelled 2 [A2imil 58 2ugld 2aia 2ol wet 2uglzi-l el yel swa)

M ™,

AN RY 7
.\. %‘\\_ \'\\ﬁ?{
Options :
™
NN
NN

40503627737.
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NN
40503627739.
5
N
N
40503627740.

Question Number : 51 Question Id : 4050367593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options :

40503627741.



40503627742.

40503627743.

—

40503627744.

Question Number : 51 Question Id : 4050367593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 - D W99 @i § UF % F U 999 Fi femmn e ¥ R Fi fown § T g, s9E I v
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40503627741.

40503627742.

40503627743.

T

40503627744.

Question Number : 51 Question Id : 4050367593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 - DU 2gld 215 dad e el B, dladl Busi sddi, =i e g2 seior 2aglaimisl sl



40503627741.

40503627742.

40503627743.

T

40503627744.

Question Number : 52 Question Id : 4050367594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.




Options :

40503627745.
|
40503627746.
40503627747.
i
40503627748.

Question Number : 52 Question Id : 4050367594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503627745.

|
40503627746.

40503627747.

40503627748.



Question Number : 52 Question Id : 4050367594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

3 - D U 25l @15 g £e ol ©.  dlaedl Bt sddl, 2ue i £ sreer wuglaeimizl il

Options :

40503627745.

40503627746.

40503627747.

40503627748.



Question Number : 53 Question Id : 4050367595 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

R

Options :

e
40503627749.
40503627750.

]
40503627751.

I

40503627752.



Question Number : 53 Question Id : 4050367595 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 - D W ATHTT § Uk 9% & Ush 299 i fam@rdn T ¥ | d 1 faun ¥ S g, THE 9 v &
T AFTE F 9 2= |

Options :

40503627749.

40503627750.

40503627751.

40503627752.



Question Number : 53 Question Id : 4050367595 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503627749.

40503627750.

40503627751.

40503627752.



Question Number : 54 Question Id : 4050367596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

G ,,\ .
T l N "-\-h[..-""T
Options :
40503627753. -
L 1 ]
40503627754.
|
40503627755.

40503627756.



Question Number : 54 Question Id : 4050367596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 - D WA ATH H UF 99 % U 594 Fi femman e ¥ o i fewn ¥ T gy, tHE IeyE gy
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Options :
40503627753. -

| L |
40503627754.

40503627755.



40503627756.

Question Number : 54 Question Id : 4050367596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 - D U 25l @is g £e ol . dladl Bas sddl, wued w4 £ svaier suglooimisl il

Options :

—

40503627753.

mmll

40503627754.

40503627755.



40503627756.

Question Number : 55 Question Id : 4050367597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options :

40503627757.

40503627758.

40503627759.



40503627760.

Question Number : 55 Question Id : 4050367597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 - D W99 SITd § U 9% F U 299 FI fem@mn = €| 7R F fawn § TEd gy, 59 9Rd g9 &
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Options :

40503627757.

40503627758.

=
o
i}

40503627759. |




=

40503627760.

Question Number : 55 Question Id : 4050367597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 - D U 2lgld 215 dad 22 el &, dladl Fuml sadi, 2 22 swd sesior 2uglaiixisl 2iEl

Options :

40503627757.

40503627758.

40503627759. |



40503627760.

Question Number : 56 Question Id : 4050367598 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

"/-
; 7
I ri
/ y
I
/ | /s
L/ /

40503627761.

40503627762.



40503627763.

40503627764.

Question Number : 56 Question Id : 4050367598 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
e S H T 1 w1 399 femm T F ) R e H SEd 30 I Al | 9 9E 9
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Options :

40503627761.



40503627762.

| ]
40503627763

|r—1
40503627764.

Question Number : 56 Question Id : 4050367598 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
u wiigld 5185 sl Guil £wd (top view) eldidl . dledl FBrumi sadl, 2 @] Ged £
(elevation), srelet 2ug(A=imizl 2L

Options :



40503627761.

40503627762.

| ]
40503627763

|r—1
40503627764

Question Number : 57 Question Id : 4050367599 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.




Options :

HJ}

40503627765.
L] ’J}

40503627766.
’JW

40503627767.
’l‘

40503627768.

Question Number : 57 Question Id : 4050367599 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503627765,
i r%
40503627766.
—
40503627767.
FH
40503627768.

Question Number : 57 Question Id : 4050367599 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1
ue 2igld s1ds g2l Guil 224 (top view) “did .
(elevation), s¢stled 2ug(d=ii+isl 2liEL

Options :

40503627765.

40503627766.

40503627767.

40503627768.

[ — I — B - — |
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Question Number : 58 Question Id : 4050367600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

Options :

40503627769.

40503627770.

40503627771.



7

Question Number : 58 Question Id : 4050367600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
WY SR | g HI g e T ¥ | 9w e | < g I ol § 9 e 2y
99 TEEn |

40503627772.

Options :

40503627769.

40503627770.



40503627771.

40503627772.

Question Number : 58 Question Id : 4050367600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
uer wiigld 5185 srgoild Guil £wd (top view) el ©.  dlaedl Bami sddl, 2 e Ged £
(elevation), s/elet 2iis(A=imizl 2lEl

Options :

40503627769.



40503627770.

40503627771.

40503627772.

Question Number : 59 Question Id : 4050367601 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

]
00
1H00

Options :



| Hn Al

40503627773
Nl
40503627774.
i
40503627775.
T
40503627776.

Question Number : 59 Question Id : 4050367601 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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100
Options :

!
40503627773.

Al
40503627774.

s
40503627775.

il
40503627776.

Question Number : 59 Question Id : 4050367601 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

uw 2ilgld 5195 sl Guil £2 (top view) oldlid
, avellol wig(aimisl 2lel

(elevation)

U

i
sl

x’T&

Options :

40503627773

40503627774

40503627775

40503627776
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Question Number : 60 Question Id : 4050367602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

Options :

ST

40503627777.

40503627778.

40503627779

40503627780

Question Number : 60 Question Id : 4050367602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

ST

40503627777.

40503627778.

40503627779

40503627780

Question Number : 60 Question Id : 4050367602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



u wigld s1ds drgeild Guil 224 (top view) “did . dladl Erudl sadi, =i @2 G £
(elevation), srelet 2ts(A=iizl 2lEl

T

-
L

Options :
40503627777.
40503627778.
40503627779.
40503627780.

Question Number : 61 Question Id : 4050367603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The White House is which one of the
[ nllf}wing ?



Options :

Residence of Prime Minister of

Einnan
40503627781, — oAty

40503627782 Residence of Prime Minister of France

40503627783 Residence of Prime Minister of Spaf_n

40503627784, Residence of President of USA

Question Number : 61 Question Id : 4050367603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
=T5e gy frefafaa A FA W e ?
Options :

40503627781, Tl b FHFTHAT 1 T

T & TYEEAT =51 FaEm
40503627782.

40503627783, T & FHHHA 1 FHEH

Tga =9 FAHREH F WL &1 Famw
40503627784

Question Number : 61 Question Id : 4050367603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



c1ge ¢l lRlamizl 9 7
Options :

sl Al WA (el
40503627781. 2

.r - - : 9
40503627782, L nel, (e

el MelAl [Fetza-aq
40503627783. L

: T
40503627784, DoA L et (e

Question Number : 62 Question Id : 4050367604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In the Northern Hemisphere the summer
sun rises from which one of the following
directions 7

Options :

40503627785, orth East

40503627786, North West

40503627787, Oouth East

40503627783, SOuth West

Question Number : 62 Question Id : 4050367604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

I e | i § g = fewmedi 6 9

g ue faen 9 31 €72
Options :

40503627785, So¢ 1A

40503627786, ST% e

40503627787, Ao T4

40503627788, A0 HIEEH

Question Number : 62 Question Id : 4050367604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Gl sticnel i Gl Yo ARl [Baustimiz 56
[Eaumi GlL &7
Options :
= r
40503627785, % 4

40503627786, G B

glseL yd
40503627787. 2

40503627788, AL bR



Question Number : 63 Question Id : 4050367605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In which of the following States is the
Golden Temple located ?

Options :

Harvana

40503627789. ’

40503627790, © unjab

40503627791, £issam

40503627792, [Nagaland

Question Number : 63 Question Id : 4050367605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Frafafad § 9 # 9 gew H =i wiew o
¥?

Options :

40503627789. %

40503627790.

40503627791, 11



40503627792. INE

Question Number : 63 Question Id : 4050367605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

it_i;tlleh-l[E? (Golden Temple) AlhALHiAL 541
sl 2194 B
Options :

S EDTTE
40503627789,

40503627790, o4

40503627791,  LHIH

40503627792, TWUAS

Question Number : 64 Question Id : 4050367606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What is the thickness of a one and a half
brick thick wall 7

Options :

40503627793. 4

40503627794, 12°

40503627795, 18"



40503627796, 132"

Question Number : 64 Question Id : 4050367606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Options :

40503627793. 4

40503627794, 127

40503627795, 187

40503627796, 13-5"

Question Number : 64 Question Id : 4050367606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
gla 82 aadl [Euadl sasd seell ¢lx?

Options :

40503627793. 4

40503627794, 127

40503627795, 18"

40503627796, 13:2"



Question Number : 65 Question Id : 4050367607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one amongst the following supports
the masonry above doors and windows ?

Options :
40503627797, Foundation

40503627798, Lintel

40503627799, Slab

40503627800, 'Vooden frame

Question Number : 65 Question Id : 4050367607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
freafafaa 5 9 =1 o 2@ v s &
TR ToTE F1 wHe i § 7

Options :

40503627797. RlE

40503627798. T

40503627799, 1=



40503627800. Bt

Question Number : 65 Question Id : 4050367607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Erellsd 2 GEI2UAL GUR-AL Sl 8L
AlziAriel 2 25l =l 87

Options :

Yl (Foundation)
40503627797.

[A-24 (Lintel)
40503627798,

40503627799, @ (Slab)

Assidl $3 (Wooden frame)
40503627800.

Question Number : 66 Question Id : 4050367608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The Leaning Tower in Italy is located in
which one of the following cities ?
Options :

40503627801, [lorence

40503627802, Venice



40503627803, Lisa

40503627804, Rome

Question Number : 66 Question Id : 4050367608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Tl 1 @i 2 e | 3 TR v e
27

Options :

e

40503627801.

40503627802, 19
40503627803, 1741

40503627804, 4

Question Number : 66 Question Id : 4050367608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

dedlul 2uddl 2uidl Bzl ARl 541213l
el 157

Options :

40503627801, TR



Al

40503627802,
40503627803, UL
40503627804, ™

Question Number : 67 Question Id : 4050367609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the garden of the following
is a terraced garden in Srinagar ?

Options :
40503627805, Nishat

40503627806, ¥Tindaban

40503627807, buddha

40503627808, Nehru

Question Number : 67 Question Id : 4050367609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
et 5 | &1 |1 9g&adil e U S
A H fro 37

Options :

40503627805. I



40503627806. 1

40503627807, 3%

-,

40503627808. s

Question Number : 67 Question Id : 4050367609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
All-ruizdl 54l 215 oll=l sl Bud weed
o[l (terraced garden) &

Options :

40503627805, Rl

40503627806, 2

40503627807. e

40503627808, &3

Question Number : 68 Question Id : 4050367610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What amongst the following is the name
of the famous museum in H}-‘dc-rabad ?

Options :



40503627809, 'alaknuma

40503627810, “2larjung

40503627811, Gandhi

40503627812, Nizam

Question Number : 68 Question Id : 4050367610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Frafefiad # & i m tetes F s Sreem
FAFE?

Options :

40503627809, eI

40503627810. - l

40503627811, Ml

40503627812, T

Question Number : 68 Question Id : 4050367610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

AlArdidl, deaeisl #is ulHe dusad

(museum) « A4 2| &7



Options :
40503627809, 5L

40503627810, RS

40503627811, Ul

40503627812, Mt

Question Number : 69 Question Id : 4050367611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the color is made when blue
and }-'n:-llow are mixed ?

Options :

40503627813, Violet

40503627814, OTange

40503627815, Green

40503627816, /Vhite

Question Number : 69 Question Id : 4050367611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
et A el 101 % fagon § w0 = 9 g ?



Options :
40503627813, AT

vy

40503627814, T
40503627815, &

40503627816, 1

Question Number : 69 Question Id : 4050367611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ol 24 ol 220 Honell 41 391 edrlesEl 208
£517
Options :

40503627813, “AAsAL

40503627814, 3L

40503627815, Ul

40503627816, <&

Question Number : 70 Question Id : 4050367612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the fnllnwing color suggests
love and romance ?

Options :

40503627817, Drue

40503627818, Sreen

40503627819, L ink

40503627820, TOWD

Question Number : 70 Question Id : 4050367612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
= T § | % W UF 9R R THE I
T & ?

Options :

40503627817. ol

40503627818, °0
40503627819, 34

40503627820. kS

Question Number : 70 Question Id : 4050367612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

ALl $41 3210 UM 21 3™ (romance)
Yud 7

Options :

40503627817 “UEUl

40503627818, el

4050362781, el

40503627820, TR

Question Number : 71 Question Id : 4050367613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following suggests the
texture of the skin of the elderly persons ?

Options :

40503627821, Clossy

40503627822, Wrinkled

40503627823, Smooth

40503627824, SOt



Question Number : 71 Question Id : 4050367613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
=1 § ¥ =[ W g9 Afgdl S = Hi
TAEE 1 G < 8 7

Options :

40503627821, FHHER

40503627822. 4

40503627823. g

40503627824, TH

Question Number : 71 Question Id : 4050367613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Al 2522421 (texture) Hil Mg oL sl
Al 2502 24 97

Options :

40503627821, HH5ER

40503627822, FAAAY

40503627823, A4

40503627824, W4



Question Number : 72 Question Id : 4050367614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is fixed to drain
water from a sloping roof ?

Options :
40503627825, Ridge

40503627826, Lave

40503627827, 1- Bolt

40503627828, utter

Question Number : 72 Question Id : 4050367614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
1 W 9 S19-91 UF 1A 61 94 9 fwed &
Options :

40503627825, T&d

40503627826. oA

40503627827, - A=



40503627828, %

Question Number : 72 Question Id : 4050367614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
gl v el wella Fsie we iAol o
LML 2L 9

Options :

40503627825, U™ (Ridge)

40503627826, "It (Eave)

40503627827, - “U< (J. Bol

40503627828, &% (Gutter)

Question Number : 73 Question Id : 4050367615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following is ideal flooring
for a cinema hall 7

Options :

40503627820, Sranite

40503627830, Prick



40503627831, Marble

40503627832, “arpet

Question Number : 73 Question Id : 4050367615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Trefertiad 9 4 == =1 g 2 = fou sy
Y 2

Options :

40503627829, T RC

40503627830, 2%

40503627831, HTHIHT

iy

40503627832.

Question Number : 73 Question Id : 4050367615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

[BAda gla e Alqmial s siadlau
(flooring) 42 21zl &7

Options :

40503627829, Ariloe



40503627830, 9%

- 3 [
40503627831, URMHMEIRL (e

40503627832, UL

Question Number : 74 Question Id : 4050367616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Who among the following is the architect

of the Punjab Haryana High Court

Building ?
Options :
40503627833, Maxwell Fry

40503627834, ¢ Corbusier

40503627835, Louis Kahn

40503627836, Geoffrey Bawa

Question Number : 74 Question Id : 4050367616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

FE A sEE?
Options :



=, [

TeRdeel Wle
40503627833.

40503627834, ©1 P19dR

40503627835. R

40503627836.

Question Number : 74 Question Id : 4050367616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Usded R Goal ey Mo Al qRsR
(22uld) A=Azl siel 7

Options :

40503627833, A4 5

d slofulz
40503627834, =

qed &
40503627835, ot 5léA

40503627836, "8 AU

Question Number : 75 Question Id : 4050367617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one among the following is used for
water conservation ?
Options :
Water drainage
40503627837.

40503627838, "Vater evaporation

40503627839. Water harvestmg

40503627840, YVater flowing

Question Number : 75 Question Id : 4050367617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
el WL o Teru ffefiga 5 9 @ = 93
o S & 2

Options :

40503627837, <1 1Y

40503627838, 1 ATATRIM

40503627839, S1¢1 HH4

40503627840. Ll

Question Number : 75 Question Id : 4050367617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

st 8B 12 Azl 2u-Al Guspl seaHl

e 557
Options :
L Al 31T
40503627837, s/t [As1e (Water drainage)
T AT ot als
40503627838 syt Al (Water evaporation)
40503627839, oL H:4 (Water harvesting)
s¢UL Mg (Water flowi
40503627840, = {Watex Clonringl
Planning
Section Id : 405036269
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 405036554

Question Shuffling Allowed : Yes



Question Number : 76 Question Id : 4050367618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Secondary sector of economic activity is
associated with :
Options :
40503627841, £\Briculture

Manufacturing,
40503627842.

40503627843, Service

40503627844, Mining

Question Number : 76 Question Id : 4050367618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
AT TTfataie =1 fgaiae (Secondary) &3 5
T g § 7

Options :

Fi

40503627841.

40503627842, 17

-

40503627843, 1

40503627844, ©



Question Number : 76 Question Id : 4050367618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
2Bl el Gloms 8 R 25 wa
dsnudg 9.
Options :

R
40503627841. ﬁ&l
40503627842, U

40503627843, Hl

40503627844, ST (V)

Question Number : 77 Question Id : 4050367619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Allocation of powers and functions
between Union and State governments is

given in which schedule of the Constitution
of India ?

Options :
40503627845, First Schedule

40503627846, Ihird Schedule

40503627847, Fifth Schedule



40503627848. Seventh Schedule

Question Number : 77 Question Id : 4050367619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
T 91 U1 TR & a9 Al a9 FEl
T AF2A YRAE WiE9H & w5 STt |
T T &2

Options :

40503627845

L (&l [
40503627846. A

40503627847. iR

40503627848. - I Elk

Question Number : 77 Question Id : 4050367619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Seg uied s Ms1R o2 WM i sl
stnll etz szl 59 w2l (sl) “i=uta
57

Options :

40503627845, ¥4 3L (4



40503627846. (}[}H -tj,\[al

vzl wE=
40503627847. N

il H=
40503627848. N

Question Number : 78 Question Id : 4050367620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the ff}IIf}wing criteria is not the
basis of classification of natural resources 7

Options :

40503627849, Lxhaustibility

40503627850, OWnership

40503627851, Origin

40503627852, Climate

Question Number : 78 Question Id : 4050367620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
=1 § & ®7 W AedE nEfds gaE F
TATTHTOT T AT T2 & 7

Options :



40503627849.

40503627850, TNH™

40503627851, T4

40503627852, 11

Question Number : 78 Question Id : 4050367620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gerdl el pllszer Aol sl s wugs
w2 2z A7

Options :

40503627849, 18 o ((Rettlcu)

40503627850, “ulasl

0 (&id) (Origi
40503627851, K (#) (Origin)

40503627852, “UUAzEL

Question Number : 79 Question Id : 4050367621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Who amongst the following was involved
in design of New Delhi ?

Options :

40503627853, OiF Bdwin Lutyens

40503627854, e Corbusier

40503627855, Otto Konigsberger

40503627856 Patrick Geddes

Question Number : 79 Question Id : 4050367621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

= | | fomA 7% feeel =1 fesmga faan?
Options :

40503627853, ¢ ST <<

40503627854 SUCE IR RS
40503627855, el HIFTEET

40503627856. - &

Question Number : 79 Question Id : 4050367621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1
AAcdl (Bl Al (219 (Agll) w2l 2wzl
S8l WA 97
Options :
10503627853, =R et @l

= i
40503627854, AsHALR

40503627855, 2Uel-stlmsetsiz

Wl 3
40503627856. .

Question Number : 80 Question Id : 4050367622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Jawaharlal Nehru National Urban Renewal
Mission (JNNURM) was launched in :

Options :
40503627857, 1970

40503627858, 1975

40503627859, 2005

40503627860, 2010

Question Number : 80 Question Id : 4050367622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

FARTAd Hek TREE el Adrenin iy
(JNNURM) =1 [9REY & T mar ?
Options :

40503627857, 170H

40503627858, 1072 H

40503627859, 2005 ¥

40503627860. 2

Question Number : 80 Question Id : 4050367622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
seellsreld g3 el ugdl Aell-Hlszel B
(JNNURM) #4% 213 244 &q?

Options :

40503627857, 1970

40503627858, 1975

40503627859, 2005

40503627860. 2010



Question Number : 81 Question Id : 4050367623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following does not involve
community participation ?

Options :
40503627861 Demarcation of dense forests

40503627862, Urban Basic Services for the poor

40503627863, Joint Forest Management

40503627864, Be€l Bachao Andolan

Question Number : 81 Question Id : 4050367623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
=1 4 9 9 | T g affed Ta
g7

Options :
40503627861, 1 Tl <l HIHTSH

40503627862. el Kk 4

40503627863, 3T 1 HTHA

40503627864, 1 =S AT



Question Number : 81 Question Id : 4050367623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
{2 Hizll 2] 215 uypl eweilad] wel dsuEd
217
Options :
e syl |l
s0503627861, “UE Pl 2lis

3 N 12 2 r-\' !
40503627862, LAl HE UL Ao el

40503627863, 4oL Al M

-
10503627864, U AL MElE

Question Number : 82 Question Id : 4050367624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Out of Mohenjo-daro, Harappa, Lothal and
Dholavira, which of the following cities
were laid out on grid pattern ?

Options :
40503627865, Mohenjo-daro and Harappa

Mohenjo-daro, Harappa and
40503627866, Pholavira

40503627867, Hlarappa and Lothal



Mohenjo-daro, Harappa, Dholavira

40503627868, 2nd Lothal

Question Number : 82 Question Id : 4050367624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
HrEA-3T2], TSI, TNYe a1 S § 3
o vl 1 firg e o = T ?

Options :

40503627865, eTal—<rel T4 81
40503627866, eTall—<lgl, TS d31 Hedl=M
40503627867, &S a1 1T

HTeall-arel, B8, S a9 ey
40503627868.

Question Number : 82 Question Id : 4050367624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Hidedesl, ovdl, diad 2 Al wisl 54
91z AUls (savil) 2o (aizl) Guz 2uakd 87
Options :



40503627866, “UEAESL, ssvL 24 dleu{Rl
40503627867, SSHML 24 dllad

40503627368, ‘UEAESL, €5, dlendlzl 2 dlug

Question Number : 83 Question Id : 4050367625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
What is the full form of IOT ?
Options :

40503627869 International Organisation for Trade

40503627870. Internet of Tweets
40503627871, Interest on Transactions

Internet of Things
40503627872.

Question Number : 83 Question Id : 4050367625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
IOT =T 901 =9 (full form) 1 &?
Options :

40503627869 [nternational Organisation for Trade



40503627870. Internet of Tweels

40503627871. Interest on Transactions

Internet of Things
40503627872.

Question Number : 83 Question Id : 4050367625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
IOT < 24w M 3| &)

Options :
40503627869 International Organisation for Trade

40503627870. Internet of Tweets

40503627871, Interest on Transactions

Internet of Things
40503627872.

Question Number : 84 Question Id : 4050367626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The Second United Nations Conference on
‘Human Settlements Habitat IT' was held
n :

Options :
40503627873, Vancouver



40503627874, Kyoto

40503627875, 1stanbul

40503627876, Uit

Question Number : 84 Question Id : 4050367626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

"B Heeded BT 111 W TH HyE e
e 9 wet § st foman @ ?
Options :

40503627873. g

40503627874. 2

40503627875, © T3

40503627876. B

Question Number : 84 Question Id : 4050367626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Hirted Sl dxee 11 G (glam Hiysd 2
e 41 HleaHid )

Options :



40503627873.

40503627874, FEL

40503627875.

40503627876, L2l

Question Number : 85 Question Id : 4050367627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The first Sub-urban Railway line in India
started its operation in :

Options :
40503627877, 1857

40503627878, 1984

40503627879, 1901

40503627880, 1837

Question Number : 85 Question Id : 4050367627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
T ¥ Ugell STTRIE {6 @15 &1 Hd9mer (g
T I ge?



Options :

40503627877,
40503627878, 1984

40503627879, 1901

40503627880, 1837

Question Number : 85 Question Id : 4050367627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ol MM Gyl 2eel dlgA 23 24 ellE
s sz 2uedl?

Options :

40503627877, 1897
40503627878, 1984

40503627879, 1901

40503627880, 1837

Question Number : 86 Question Id : 4050367628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following cities is not planned
ona grid pattern ?



Options :
40503627881, Washington DC

40503627882. Amsterdam

40503627883, barcelona

MNew York
40503627884.

Question Number : 86 Question Id : 4050367628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
e wredi § | @ w1 fire Yo w TE@ 3
™

Options :

40503627881. T

40503627882, o

-

40503627883.

40503627884. A

Question Number : 86 Question Id : 4050367628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Als e W 2adlor Al e ugzimiel 54
27
Options :

40503627881, “W2lP DC

40503627882, “MHFEISH

40503627883, LAl

£
40503627884, 215

Question Number : 87 Question Id : 4050367629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The Iargr:-st source of water polIutinn in
India is due to :

Options :
40503627885, Small Scale Industries
40503627886. Agricultural Run-off

40503627887 Untreated 50wagc-

40503627888, arge Scale Industries

Question Number : 87 Question Id : 4050367629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

9§ Wel FSu i Ger =2 6 ¢
Options :

40503627885, 13 5
40503627886, F1T ATATE

40503627887, 13 T

EERCIU
40503627888, -

Question Number : 87 Question Id : 4050367629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ozetl Azl 9y spon ugMeL -l Bld o 5120
2Ll

Options :

40503627885, Ll WAL Gelll

40503627886, il 414

10503627887 G2 (RRAR) sl 2

40503627888, UL M-l EBIEN



Question Number : 88 Question Id : 4050367630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What is indicated by a contour line on a
topographical map ?
Options :

40503627889, Height

40503627890, Ardministrative Boundary

s
40503627891, ¥ esetation

40503627892, "Vater Body

Question Number : 88 Question Id : 4050367630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TS AT (topographical) Tl T FH=
(contour) a1 T =9I &2
Options :

40503627889. ;

40503627890, AN i

40503627891, TTEITA

40503627892. FEE A



Question Number : 88 Question Id : 4050367630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
2adlglds (20UEls) s Gy wulzy 2w o8
2 uERIA 2 87

Options :

40503627889, AL

40503627890, 2L 2l

40503627891, Strxuld

T e e =
40503627892, A AL (vt Elet)

Question Number : 89 Question Id : 4050367631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The ratio that shows a relationship between
the distance on a map and the actual
distance on ground is known as :

Options :

40503627893, Pirection

40503627894, ey map

40503627895, >cale



40503627896, 1sotherm

Question Number : 89 Question Id : 4050367631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
FE AT, S 19 T S a9 T W AniEaE

o F = UF =y 5 feam ®, A E G
o | S SR ?
Options :

40503627893, T=¥N

40503627894, T1o31 A=
40503627895, Th

40503627896.

Question Number : 89 Question Id : 4050367631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A52Ul G ocllad wic 2 o[ Guzd cirdlbs
22 «ll 22l Mol 2l b o 2L il
wiloIY,

Options :

40503627803, L



40503627894, 5L 52l (2L 4sell)

40503627895, 54 (M)

40503627896, HdM

Question Number : 90 Question Id : 4050367632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Find the correct match :

(P) Dhanbad (I)  Textle
(Q) Kandla (I) Mining
(R) Bokaro (IIT) Port
(S) Surat (IV) Steel
Industry
Options :

10503627897, (P, (Q-(D), (R)-(I), (S)}-(IV)
40503627398, (P)-(D), (Q)~(II), (R)-(II), (S)-(IV)
40503627899, © D Q)-(1), R)-(V), (S}-(T)

40503627900, (L -(ID), (Q)-(II), (R)-(IV), (S)-()

Question Number : 90 Question Id : 4050367632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

10503627507, PHID, (Q-(, (R)-(I1I), (S)-(IV)
40503627805, @)D, (Q-(II), (RI-ID), (S)-AV)
10503627596, P)-1D, QD) R-(IV), (S-(D)

40503627900, © (), (Q)-(II), (R)-(IV), (S)-(T)

Question Number : 90 Question Id : 4050367632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Al sadl 2liAl

(P) &-ele M 54

(Q 5sa () e

(R) ellsil (I elgzoue
(5) V) 2wl Gala
Options :

10503627897, (LD, (Q)-(D), (R)-(IM), (S)-(TV)



40503627898, (L)-(D), (Q)-(IIL), (R)~(TI), (S)-(IV)
40503627899, (LD, (Q-D, R)-AV), (S)-(D

40503627900, (D). (Q-(IID), (R)-(IV), (S)-(I)
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Correct Marks : 4 Wrong Marks : 1

Select the indicative graph that best fits the
Statement : “Car prices rose steadily,
dropped a little and are now holding

steady”.
. _/// )
(A) (B)
| A
- ;".:I ///
(©) s P
.-"'-f
Options :

40503627901. (A)

40503627902, (B)
40503627903, (D)

40503627904, Poth (C) and (D)
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(A) (B)

|II //1.‘.\.
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(©) P D) v
Options :

40503627901, ()

40503627902. (B)

40503627903. (D)

40503627904. 2 el b
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Options :
40503627901, (A

40503627902, (B)

40503627903, (D)

40503627904. Sl
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The diagram above shows the number of
men and women using different modes of
transport to commute to their work place.

Which of these statements is the correct
answer 7
Options :
50% of all those who cycle to their
40503627905. work places are women

More men compared to women use
auto-rickshaw for commuting to

40503627906, Work place

More women compared to men cycle

40503627907 to their work place

The highest share of persons walk to
40503627908 their work place



Question Number : 92 Question Id : 4050367634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 4 Wrong Marks : 1
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Options :
3 9+, 1 Wsfehe § 19w | W
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T H ATeIF T A2l [ & gaH e
40503627906, T €|
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40503627907, TN RS EBh XL skl £l
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SIHR-YL YR HHSE A9 syl Als L 50%
40503627905, el ©.
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40503627906, Gy srell W2 221318 A Guiol sl
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One site is divided into 10 < 10 units as
shown in the figurr_-. It has fDIIf}wing

classification of land area.
(A) Waste land 5

(B) Forest land [

(C) Agriculture land
(D)  Unused land []
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Which of the following classification has
the highest amount of land ?

Options :

40503627909, 'V aste land



40503627910, Forestland

40503627911 Agriculture land

40503627912, Unused land
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40503627900, 5P (6321 o4

40503627910, 1 AR

40503627011, “iclles i
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In the given figure the volume of the
shaded portion is :

Options :
40503627913, 46,200

40503627914, 30,800

40503627915, 15,400

40503627916. 7+700
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Options :
40503627913, 46,200

40503627914, 30,800

40503627915. 15,400

40503627916, 7700
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Options :
40503627913, 46,200

40503627914, 30,800

40503627915. 15,400
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40503627916.
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Following table gives the number of
families according to family size. What is
the average family size ? (Rounded off to
one decimal)

S.No. Family size MNo. of families
(persons)
b, 3 300
/. 4 200
3. 5 400
4 ) 400

Options :



40503627917, 4.5

40503627918, 4.7

40503627919. 4.9

40503627920. 50

Question Number : 95 Question Id : 4050367637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
R 35 AT 3 AT R T e
TROf H S ME ¥ ST IRER S g7
(Teh SYHEE TH °6 IG)

FHE.| UHER AR qiER;
(=afed) HqE
1. 3 300
2. 4 200
3. 5 400
4, &) 400
Options :

40503627917, 4.5
40503627918, 4.7

40503627919. 4.9

40503627920. 50
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1. 3 300
.5 4 200
3 5 400
4, 3] 400
Options :

40503627917. 4.5

40503627918, 4.7

40503627919. 4.9

40503627920. 50
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Correct Marks : 4 Wrong Marks : 1



Read the given passage and answer the
question.

The United Nations (UN) has warned that
the global consumption of natural resources
could triple to 140 billion tons a year by 2050
unless consumer nations take drastic steps.
The UN environment panel called on
governments to ‘decouple’ economic
growth from the rapid rate of natural
resource consumption. It said the world is
already running out of some essential
materials including oil, copper and gold,
which in turn, will need rising volumes of
fuel and water. Decoupling involves
transition to a low-carbon, resource efficient
green economy that stimulates growth in a
way to keep humanity’s footprint within
planetary.

The term “decoupling” here would entail :

Options :

Birth control measures to reduce

40503627921. resource c::-mumptmn

40503627922 Production of cheap materials

40503627923, Talk less and work more

PrDthjng gmwth that stresses on
reducing the rate of consumption of

natural resources
40503627924.
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Read the given passage and answer the
question.

The United Nations (UN) has warned that
the global consumption of natural resources
could triple to 140 billion tons a year by 2050
unless consumer nations take drastic steps.
The UN environment panel called on
governments to ‘decouple’ economic
growth from the rapid rate of natural
resource consumption. It said the world is
already running out of some essential
materials including oil, copper and gold,
which in turn, will need rising volumes of
fuel and water. Decoupling involves
transition to a low-carbon, resource efficient
green economy that stimulates growth in a
way to keep humanity’s footprint within
planetary.

The term “decoupling” here would entail :

Options :

Birth control measures to reduce

40503627921 resource CDI‘ISLIII’IPL‘EDI‘[

40503627922 Production of cheap materials

40503627923, Talk less and work more

Promoting growth that stresses on
reducing the rate of consumption of

natural resources
40503627924.
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Correct Marks : 4 Wrong Marks : 1

Read the given passage and answer the
question.

The United Nations (UN) has warned that
the global consumption of natural resources
could triple to 140 billion tons a year by 2050
unless consumer nations take drastic steps.
The UN environment panel called on
governments to ‘decouple’ economic
growth from the rapid rate of natural
resource consumption. It said the world is
already running out of some essential
materials including oil, copper and gold,
which in turn, will need rising volumes of
fuel and water. Decoupling involves
transition to a low-carbon, resource efficient
green economy that stimulates growth in a
way to keep humanity’s footprint within
planetary.

The term “decoupling” here would entail :
Options :

Birth control measures to reduce

resource consumption
40503627921.

Production of cheap materials
40503627922.

40503627923, Talk less and work more



Promoting growth that stress on
reducing the rate of consumption of

40503627924, natural resources

Question Number : 97 Question Id : 4050367639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Read the given passage and answer the
question.

The United Nations (UN) has warned that
the global consumption of natural resources
could triple to 140 billion tons a year by 2050
unless consumer nations take drastic steps.
The UN environment panel called on
governments to ‘decouple’” economic
growth from the rapid rate of natural
resource consumption. It said the world is
already running out of some essential
materials including oil, copper and gold,
which in turn, will need rising volumes of
fuel and water. Decoupling involves
transition toa low-carbon, resource efficient
green economy that simulates growth in a
way to keep humanity’s footprint within
planetary.
Identify the correct statement :
Options :
140 billion tons of natural resources

40503627925 will be consumed till the end of 2050

Green economy refers to an economy
40503627926, thatis based on forest resources



Green economy refers to an economy
that produces at lower carbon

40503627927, footprint and is resource efficient

The UN has asked governments to

40503627928, reduce their economic growth

Question Number : 97 Question Id : 4050367639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Read the given passage and answer the
question.

The United Nations (UN) has warned that
the global consumption of natural resources
could triple to 140 billion tons a year by 2050
unless consumer nations take drastic steps.
The UN environment panel called on
governments to ‘decouple’” economic
growth from the rapid rate of natural
resource consumption. It said the world is
already running out of some essential
materials including oil, copper and gold,
which in turn, will need rising volumes of
fuel and water. Decoupling involves
transition toa low-carbon, resource efficient
green economy that stimulates growth in a
way to keep humanity’s footprint within
planetary.

Identify the correct statement :

Options :



140 billion tons of natural resources

40503627925 will be consumed till the end of 2050

Green economy refers to an economy
40503627926 that is based on forest resources

Green economy refers to an economy
that produces at lower carbon

40503627927 footprint and is resource efficient

The UN has asked governments to

40503627928, reduce their economic growth

Question Number : 97 Question Id : 4050367639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Read the given passage and answer the
question.

The United Nations (UN) has warned that
the global consumption of natural resources
could triple to 140 billion tons a year by 2050
unless consumer nations take drastic steps.
The UN environment panel called on
governments to ‘decouple’” economic
growth from the rapid rate of natural
resource consumption. It said the world is
already running out of some essential
materials including oil, copper and gold,
which in turn, will need rising volumes of
fuel and water. Decoupling involves
transition toa low-carbon, resource efficient
green economy that simulates growth in a
way to keep humanity’s footprint within
planetary.

Identify the correct statement :

Options :

140 billion tons of natural resources

40503627925.

will be consumed till the end of 2050

Green econo my refers to an economy

40503627926, that is based on forest resources

Green economy refers to an economy
that produces at lower carbon

40503627927.

fDDtpri_m and is resource efficient

The UN has asked governments to

reduce their economic growth
40503627928.
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Correct Marks : 4 Wrong Marks : 1
Statement : The citizens of Narbhada city
are facing water shortage.

Given are the two courses of action
available to the Municipal corporation.

(I)  The Municipal Corporation of
Narbhada should immediately take
action to prevent all water leakages
and theft

(Il The Municipal Corporation of
Marbhada should cut the water
supply to its residents by half.

Which of the following options is most
appropriate ?

Options :
40503627929. only (I)

40503627930, °nty (1)

40503627931, Poth (I) and (IT)

neither nor (11
40503627932. 0 (0

Question Number : 98 Question Id : 4050367640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503627929.
40503627930.
40503627931. @

40503627932.
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Options :

40503627920, £ (D

40503627930, = (ID)

40503627931. o

40503627932. o Ms ol )
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Correct Marks : 4 Wrong Marks : 1

In a survey taken for household income in
an area, mean annual income of the
households came to be Rs 10.0 lakh and the
median income was Rs 4.0lakh per annum.
Which of the following statement will
explain the difference between mean and
median income of the households ?

Options :



more than 50% of the households
40503627933. have income around 10.0 lakh

more than 50% of the households
have income much higher than

40503627934, 10.0lakh

few households have income much

40503627935, Nigher than 10.0 lakh

most of the households have income

between 4.0 lakh to 10.0 lakh
40503627936.
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Statement | :

Sustainable  development means
development that takes place without
causing damage to the environment.
Statement 11 :

Sustainable development means
development that meets the needs of the
present without compromising the needs
of the future generation.

Which of these is correct ?
Options :
40503627937 Statement (I) only

40503627938, tatement (IT) only

Both statements (I) and (II)
40503627939.

40503627940, Neither statement (I) nor (II)
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Correct Marks : 4 Wrong Marks : 1
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Options :

Fad F (1)
40503627937.

40503627938, Paa F (II)
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991 %99 (1) 9 & F94
40503627940, 0 &

Question Number : 100 Question Id : 4050367642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



(41 1 :

251G (A5l =8 2L 9 5, [As s o7 alsrer
52U 52l 2.

EPERIE

251G sl =18 1 8 %, [ 5 o el
el sralanell AL 22 HHa 540 =R Al
szl A e,

Aol 2] e 57

Options :

40503627937, AL (D) 3¢t

40503627938. e (1) 550

40503627930, 12 EEUAL (1) 4L (IT)

40503627040, " BEL (D) 5 €l(ID)



